
Двухслойный персептрон

Найти среднеквадратичные ошибки сети.
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Двухслойный персептрон
1 0.0736 -

2 0.1049 -

3 0.1043 0.0737

4 0.0608 0.0827

5 0.1000 -

6 0.0960 -

7 0.0782 -

8 0.0673 -

9 0.1022 -

10 0.1019 -

11 0.0764 -

12 0.0734 0.1012

13 0.0713 -

14 0.1029 -

15 0.0708 -

16 0.1069 -

17 0.1064 -

18 0.0691 -

19 0.0746 -

20 0.0683 0.0512

21 0.0978 -

22 0.0747 -

23 0.0974 -

24 0.0985 0.0985

25 0.0680 -

26 0.1041 0.0497

27 0.0691 -

28 0.0968 0.0612

29 0.0692 -

30 0.0693 -

31 0.1044 -

32 0.1065 -


